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QUESTION NO: 1

Which port configuration is invalid on the integrated NIC of a VxRail node?

A. 2 x 25 GbE SFP28

B. 2 x 10 GbE RJ45

C. 2 x 10 GbE SFP+

D. 2 x 1 GbE RJ45

ANSWER: D 

QUESTION NO: 2

requirement must be met when expanding a VxRail G560F 3 node Cluster with a 4ih G Series node in the same chassis?

A. Node must be identical to the other three nodes

B. Node requires only the same drive configuration

C. Node must be a hybrid node

D. Node requires only the same processor type

ANSWER: A 

QUESTION NO: 3

are some of the items contained in a VxRail As-Built Configuration report?

A. Security updates Support matrices Firewall Ports listing

B. Security updates Upgrade paths Firewall Ports listing

C. System configuration Support matrices Upgrade procedures

D. System configuration Firewall Ports listing Support matrices

ANSWER: D 
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QUESTION NO: 4

What is the purpose of the As-Built Configuration Generator?

A. Create the customer deliverable documentation of the Dell EMC product/solution implementation

B. Keep a record of all spare nodes, not yet added to a VxRail Cluster

C. Provide advanced control grouping for Stretched Clusters

D. Capture and generate the installation workflow for review in the event of a failed deployment

ANSWER: A 

QUESTION NO: 5

A VxRail Stretched Cluster deployment will have E560F node. The Cluster must allow local protection with both erasure 
coding options at either site.

What is the minimum node configuration/

A. 3+3 nodes

B. 4+4 nodes

C. 6+6 nodes

D. 8+8 nodes

ANSWER: B 

QUESTION NO: 6

In which VxRail node model is the iDRAC ‘NIC Selection Setting’ set to LOM1?

A. S570

B. E560

C. G410

D. G560

ANSWER: B D 
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